Efficiency vs P,

0.2
. : : :
L0.18F i RERLEAEERRES RRREEELREED
> E : : :

S 016 i Prenneeeeed AARERRRLREEE
3] : : :

0] . SO A o S
®0.12—--?--*----§ ------------ ------------ ------------
O
T R = s
0.06f--+++-++efereeeeene S A—
0.04f : : :
0.02f

J_G’ 1 ......! . .......! . .......! L

T O

[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

= 0.2
O A R W
e S
g r : : : : :
9016_ """ "‘ """" "‘ """"""""
(8]
£0.14F
(]
0.12

o
iy
IIIIII LI
- .
P
..#;;...J:.
=
TR
==
- Sl
=5

o
o
(e2]
TrrT '”!—b'—"”"'
—
i
- - -._x__.--' ST
&S
—u=

.

T

o i N
=] : b
¥ 1.05 { s B
eI N
i 14 4
0.951H: : ; ;
=3 -2 0 2 3




	Contents
	Page 1


